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HhRES X(m) Y(m) RS X(m) Y(m) HhHREs X(m) Y(m) R i X(m) Y(m)
Y-1 8130.18 [ -111335.23
Y-2 8111.83 | -111325.98
Y-3 8103.89 [ ~111323.71
Y-4 8102.93 | -111320.44
Y-5 8101.79 | -111313.87
Y-6 8101.54 [ -111310.07
Y-7 8104.00 | -111302.55
Y-8 8111.59 [ -111293.07
Y-9 8116.52 | ~111289.60
Y=10 8117.06 | -111288.38
Y-11 8116.82 | -111285.91
Y-12 8124.07 [ -111288.81
Y-13 8132.70 | -111291.37
Y-14 8135.47 | -111292.30
Y-15 8145.12 | -111296.16
Y-16 8141.36 | -111315.38
Y-17 8134.01 [ -111313.29
Y-18 8133.64 | -111315.09
Y-19 8132.39 [ -111314.53
Y-20 8131.93 [ -111323.95
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hEELS X(m) Y(m) RS X(m) Y(m) hE RS X(m) Y(m) th R i S X(m) Y(m)
R-1 8115.61 | ~111327.89

R-2 8111.83 | -111325.98

R-3 8108.86 | —111325.33

R-4 8113.10 [ -111317.30

R-5 8112.44 | -111314.50

R-6 8115.23 [ -111306.85

R-7 8127.67 | -111292.97

R-8 8128.76 | ~111291.18

R-9 8135.40 | -111292.27

R-10 8136.44 [ -111292.69

R-11 8135.96 | -111302.87

R-12 8130.26 | —111299.74

R-13 8119.00 | -111308.54

R-14 8115.78 [ —111314.09

R-15 8120.10 [ -111319.75




